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sensflgn / MATHEMATICS

( Hiflp whmih eykidler aufl / Tamil & English Versions)

Grirw : 2% wenf | [ Qorgs wAlCuamser ; 100
Time Allowed : 2% Hours ] [Maximum Marlks : 100
sifleyent 1 (1) eensg eflamss@Enn sfluns sFsl uflord] e erargr eremLSana
sfluniggé Gardrarayn. sysstnfleild @opulimudlea Smps
sararafiurerfiLib o Langwurs bsfefissab.
(2) e =g smuy sowdlenar bl HEWL srEpHEBDGI LILETLEHSS
CGeugr(b. ULruser eusreausie Guenfle LwarUBESeD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
{2) Use Black or Blue ink to write and pencil to draw diagrams.

@Oly : Glauallamagrer meE Gfloysmans Clsream 5.
Note : This guestion paper contains four sections.

Yfley- I/ SECTION - I
(duGluamasn : 15) / (Marks : 15)
GOy : ) @09fefld oster 15 chlamésEna@l sllamwalssa, 15x1=15
() Ger@éstiuGeer mremE ellensafls Wiaayn sflwrer silenanws

Ceipbs0ss P Pren e ameanyd Carss er(pais.
Note : (i) Answer all the 15 questions.

() Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.

1.  fl)=x*+5 erafldh, f—4)=

(1) 26 (=) 21 (@) 20 () —20
If flx)=x2+5 then f{—4)=
{a) 26 b) 21 (¢ 20 (d) -—20
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2,

1+2+3+....+n=k eraflés, 1¥+23+ . +n° crannig :

(=t) K2 (<) K (@) @ (/) (k1)

If14+2434....+n=k then 134+ 2% +n? is equal to :

(a) ¥ (b) 13 B —=— (@) (k+1)°

100n + 10 eranug qm Ggm_i auflessuilen n SLeug 2 muy aafid o5

(=) m & (6 Gar_i auflens

(<2) @ Dumems daror suflens

(@) em wrildls Aarut euflae

(F) om @ 0F e aflasybn aa CumsEs Baroi suflamswyn e
If the ntP term of a sequence is 100n+ 10, then the sequence is

(a) an AT

(b) aGP

(c} a constant sequence

(d) neither A.P. nor G.P.

=2+ 7 eranueng x+4 e euEsew Curg folsmn B

(<) 28 (<2529 (@) 30 (rr) 31
The remainder when x2—=2x+7 is divided by x+4 is :
(a) 28 (b} 29 | (c) 30 () 31

b=a+c ¢réns. axi+bx+c=0 erenp FWAUT & FAPURIGH SO erafla

(=) a=c (&)a=—c (@) a=2c (m) a=-2¢
Let b=a+c. If the equation ax?+bx +c=0 has equal roots, then :

{a) a=c (b) a=-c (c}] a=2¢ (d) a=-2¢
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2
(5x1)|-1 [=(20) erafled x -ar wHOLTang
3
|
(1) 7 (<) -7 @) 5 () 0
2
If (53 x1)|=1 [=(20) then the value of xis:
3
R 1
(@) 7 ) -7 o (d) 0
dx+3y—12=0 eramp Cpralar(, v - SifFens Weul (b Lysmefl
(<) (3. 0) (24) (0. 4) (&) @4 (/) (0, —4)
The straight line 4x +3y—12=0 intersects the y - axis at :
(a) (3 0) (b) (0, 4) © @4 (d) (0, —4)

3%+ 6y +7=0 womo 2x +ky=5 pdw CpraCarhsa Cemmssranmeu erafld
k - wdllny :
1
(01 () -1 @) 2 (") 3
The value of k, if the straight lines 3x + 6y +7=0 and 2x+ky=>5 are perpendicular is :

@ 1 ® -1 © 2 @ 3

GlemGaram AABC -& #B=90° wppi> BDLAC. BD =5 .18, AD=4Gls1f, crafle
CD =
(<2) 24 Gg.b (e2p) 16 Gsid (@) 32 Q&b (rF) 8 Ggb

AABC is a right angled triangle where £B=90° and BDLAC. If BD=8 cm,
AD=4cm , CDis:

{a) 24cm (b} 16 cm ic) 32cem (d) 8cm

[ ymiiya / Turn over
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140,

11.

12.

13.

4
waCGaramfisdt ABC wimb DEF auglardgenas. saundlan ugluersass:
apenpGw 100 Geab?, 49 Q#1852 wpmd BC = 8.2 Ge.d crafld EF =
(e24) 547 Q&5 {m4) 574 Glg.B (@) 647 Qla.b () 6.74 Q&b

Triangles ABC and DEF are similar, If their areas are 100 cm® and 49 cm? respectively
and BC 15 8.2 em, then EF is

(a) 547 cm by 574 cm (c) 647 cm {d) 6.74 cm

X

a
tanf = — ¢raficy -an wil
x aZ+x? Buy

(=) cosd (=24 ) sinf (@) cosech (rF] secl

a Yy
If tamfl = ; then the value of =

a%+x?
(a) cosh (b)  sinf (c) cosec (d) secl
feos®B=1) (cotB+1) +1=
(21) 1 (<) —1 (@) 2 () O
(cos2—1) (cot20+1)+1=
(a) 1 k) -1 © 2 (d) 0

@@ Crraul L o menaruienr yrioreng igen ewrgled urd eafld siger
Clorgs LpaLgoy :

(em4) % Th &.<81. (<24) % wvh’ s =y, (@) ‘i‘ wh’ g . (rr) % Th g2

The total surface area of a solid right circular cylinder whose radius is half of its
height h is equal to

(a) %wh $q. units  (b) % wh? 5q. units (c) % 7h? 5. units (d) %— h 5g. units
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14. n aguyser Garare ahs G aarsdida AsrEgindnEn (30 - x=
(=) nx () (n-2) x (@) (n-1) % (%) O
For any collection of n items (Zx) — x =
(@) nx () (n-2)x (€ (n-1)x d 0
15. n emsmpem cuLrang 53 epmullpnéfpenwas whmb 53 Hhsdiperwad
Qlaramg muugherar flspsae, :
1 2 3
(<) 7 (w) 7 @ 7 (") 0
The probability that a non - leap year will have 53 Sundays and 53 Mondays is
1 2 3
@ 3 ® 5 @ 3 @ 0
WSifley - 11/ SECTION - IT
(wHiiQuemaer ; 20) / (Marks : 20)
@iy @ () uss daméseie e walsssab. 10x2=20
(i) eflenr ereir 30 -5 sewglurs &laiwalssab. s
14 allannésafislimbs aCagyd 9 aflenrésamers Caray Cleluabd.
Mote ; (i Answer 10 questions.
(1) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.
16. P={a b.c), Q={g h x, v} whHmD R={a, e, f, s} eralla :

il P\R (i) QMR- o8 srems.
Let P={a b c}, Q={g h x, v] and R={a, e, f, s} then find :
(i) P\R and (i) QAR

[ Bmiius / Turn over
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18.

19,

20.

21.

22.

A={1, 2, 3, 4 5], B=N wpgp f : A-B geag flx)=x* ea
euenTwIMiSELILL(Revergy. f -an elFsssmss srans. Gogh sridlen sumsaLs
FETERTE.

Let A=(1, 2,3, 4, 5}, B=N and f: A—B be defined by f{x)=x". Find the range of f.
Identify the type of function.

Qar@ssuulfearar Cgrifleo wsa 10 e guysaiie sfsd srems
12=22 430 =424 ...

Find the sum of first 10 terms of the series 12—22+32—42 4

B.Qur.w.srams 3a—1), 2a—1)%, (a*-1).
Find the L.C.M. of 3(a—1), 2(a—1)% (a2-1).

Der@a&uul_(Perer Foawurfaatier ppamsar GWLIWeRTSET DO
Fwwretae aald k -Bear wilmus srams 12 +4kx +3=0.
Find the value of k for which the roots are real and equal in 12x%+ dlex + 3 =0.

A=[_§ z] = [; __t::] erafléy, A -an gL e Coiony Senflenws sramns.

2 1 5
If Aﬂ[_g :]— [? _]]ﬂ‘lmﬂndﬂxe additive inverse of A

A6, 7). B{-4, 1 womw C (a, -9 pfwapen wpoasarss Glsmam
AABC -é0 UTuLy b5 & Bieo@&Ear erafic, ‘a” -an wllenud srerr.

If the area of the AABC is 68 sq.units and the vertices are A(6, 7), B(—4, 1) and
C (a, —9) taken in order, find the value of ‘a".

AABC-@ £A erenp Garemgflen 2 yp Bmewba’ iy AD Speng. LESLD
BC -m D - sifsfing). BD=250Q5.85, AB=5 Gl&.1d wpmib AC=42 Ca.ib erafle
DC -enlLi& Snas.

In AABC, the internal bisector AD of £A meets the side BC at D. If BD=25 em,
AB=5 ¢m and AC=4.2 cm, then find DC.
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24,

25.

26,

27.

28,

9.

&{Eﬂ;@a; msﬂﬂji+tmzﬂ + sin8y 1+cat™0

Simplify cosdy/1+tan?8 + sinfy/1-+cot?6

seufld smigs eneuEsLULL G gaflurarg soyuyien 60° Caramgms
gouBssdns. gallea g saupddmhg 3.5 b girsdle o dengy crafld.
gantillen Bergengs srans,

A ladder leaning against a vertical wall makes an angle of 60° with the ground. The
foot of the ladder is 3.5 m away from the wall. Find the length of the ladder.

Erew(p Guir sulL 2 (penensatler g rrsatien sbldgn 3 : 2 areans. Cogyb
pupflar swrdisafen fdsh 5: 3 aalla aupilan sumeTLurlUseal e
alflgsamss srans.

The radii of two right circular cylinders are in the ratio of 3 : 2 and their heights are in
the ratio 5: 3. Find the ratio of their curved surface areas.

8.4 Qs il Lib Qarer. g Carer auga Hamn o Gors adl@airigen san
SHETENEUE SIS,

Find the volume of a sphere-shaped metallic shot-put having diameter of 8.4 cm.

W 13 Gua sremsailen L dlosssmss sansdjs.

Calculate the standard deviation of the frst 13 natural numbers.

@ pramutismer G soLwWifd sarBLiurg Sigls ULFOTE G Sa6
fanLuughanen flspssailanad arans.

When two coins are tossed together, what is the probability of getting at most one
head ?

[ Sipiys  Turn over
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30. (=) Qemeumi oerllsaflan QUmEsHULET umTUNESUILIL(HETETET dans
Siroraflsaeayd. Saarm eusmrunssiuiger Gumsd amb auflasmus
&Nains. Ag, s O Bs,y
Ss0E0g)
(4,) 3x—y+7=0 eranp Cpié Comiyheg Geamurangid (1, —2) ereap Yerafl
aldlé Cedeugorear CrT&Gam_yen SLEUT_MLS SMars.
(a) Determine whether the matrix product is defined or not. If the product is defined
state the dimension of the product matrix for A,, s and B, ..

OR :
(b)  Find the equation of the straight line parallel to the line 3x — y+7=0 and passing
through the point (1, —2).

ifley - 111 / SECTION - 111

(wdUQuemrsdr : 45) / (Marks : 45)
@oloy : (i) 9 lerdsearde oflenwealléaeyb. 9x5=45
(i) eflenr ereim 45-G Sewmgluns eflanwetlsayn. ped 14 blers
saflallmps oCagib 8 dilarssamas Gaiay Geaiweyb.
MNote : (iy Answer % questions.

(i) Question number 45 is compulsory. Select any 8 questions from the first
14 questions.

31, U={-2-10,123)}A={~2234,5} wpgd B=(1,3,58,9) erams. g wrisaflcr
sem Blr0S eflflenws sflurissayi,
U={-2 -1,0 1.2 3] A=(=2 2 3,4, 5} and B={1, 3, 5, 8, 9}. Verify De Morgan's
law of complementation.

32., A=1{5,6,7, 8 B=[-11,4,7, =10, =7, =9, =13} erans f=|(x, y); y=3—2x, xeA,
yeB} erem euepTUDIESEULIL [HiaTaTg).
(i) f-em 2 mlsenar er(1pg)m
(i) g gevew wALUSD WTH?
(i) efifssh srams
(iv) eTeuGuen&E GMITL| eTENd: SIS,
Let A={5 6,7 8 B={-11, 4,7, =10, =7, =9, =13} and f={(x. y); y=3—-2x, xeA,
yeBj
{i) Write down the elements of f.
{i) What is the co-domain ?
{ili} What is the range ?
(iv) Identify the type of function.
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33, 9a auguD Seendg) apandlands Gluie srarsailen &g srans.

Find the sum of all 3 digit natural numbers which are divisible by 9.

34. m-nx-+28:2 412070+ 9x* apemg @R (P WiESED erafld m, n oy flweipidlen
WL Fenerd HTaTs.

fm=—nr+28x2+12°+9%t iz a perfect square, then find the values of m and n.

35. @ran() eransalien s 24 whmb ddauansaian genawdbaaiean mBsaw

1 . . o . :
© eraflléd seutleusiTSaneTs Sraw s,

|
Sum of two numbers is 24 and sum of their reciprocals is X find the numbers,

-2
36. A=|4 | womb B=(13 —6) ererm Hafla@rdm (AB)T = BT AT sranuens
5
stlumrrEs.
-2
If A=| 4 |and B={1 3 —6) then verify that (AB)T = BT AT,
5

37, Sx-8y+23=0, 7x+6y-7T1=0 dlu CrriGarfsa sidsGwn yaraf
auflwrseynd, (3, 1), (-2, 2) Sélu yeaeflsar @emamyn GCorbarigmgs
Qetigssrsab senoud CriGsm_yen swenum el Sreamns.

Find the equation of the straight line passing through the point of intersection of the

lines 5x—8y+23=0 and 7x+6y—71=0and is perpendicular to the line joining the
points (3, 1) and (=2, 2).

38. (-4 -2,(-3 -5.(3 -2 wdmb (2, 3) Sdlu ydrallseaear waanserns Clamamm_
BTDETSE ST UFLILSTEY Smes.
Find the area of the quadrilateral formed by the points (-4, =2), (=3, =5), (3, —2)
and (2, 3).

[ #limliys / Tumn over
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39,

40,

41.

42,

a4,

Gerarsn Gebondens eripdl Hmcys.

State and prove Pythagoras theorem.

60 8. e wigaperer g Garursdan o &8 wppL S pHwapdla Bnsss
Garaniisar wpapCGu 30° wpnn 60° erafld sl glan s wrsensd srans.
From the top of a tower of height 60 m the angles of depression of the top and the

bottom of a building are observed to be 30° and 60° respectively. Find the height of the
building.

em earafLpp Corariflan Geuall womb 26 Sprasar popGu 12 He.d
wonw 10 Ge.d el sbsransdlan san Senanalis STaETS.

The puter and inner radii of a hollow sphere are 12 cm and 10 cm respectively, Find its
volume.

18 @s.18. ayrpeer Samn o Consd Caranorengy o mastuC @ epanmy Sblw
QeucuGaumy yeneyéren Gararmisans eurfss LBEDS. Gléiaumy euridslic L
@ran® Hearnd Gareriisafiar s risd gpeptu 2 A8, whmgn 12 QAed
eratfiley epemmmeug GCararsflen rsanss STews.

A spherical solid of radius 18 cm is melted and recast into three small solid spherical

spheres of different sizes. If the radii of two spheres are 2 cm and 12 em. Find the
radius of the third sphere.

FL dlaissmes sansdlBs.

38, 40, 34, 31, 28, 26, 34.

Calculate the standard deviation of the following :
38, 40, 34, 21, 28, 26, 34.

@ euilér 10 Ceudrenar 5 MmUY 3 uies wihmh 2 Haudiy ol ubgser
o greren. sweamily genuida CarpblsRssiuBn ¢m UES Gleudmaer
Sidg SHUL dbag usms Hpwrs Guruugperar flspsseilmean srems.

A bag contains 10 white, 5 black, 3 green and 2 red balls. One ball is drawn at random.
Find the probability that the ball is white or black or green.



SSLC JUNE 2015 11

45. (=) 11 GQa.f, 12 g8, 13 Gaf, .. 24 Qs.f . sdwapap el uEs
Stereysarras Garan_ 14 sgrEsalan QLrss0 LTLY SIS,
S|

(<) 2rf—ar+64 =0 cremm swerurliyen @ pan widnrm pasda G
WL i erafld ‘a’ -an wdllmus srams.

(a) Find the total area of 14 squares whose sides are 11 cm, 12 ¢m, ... 24 em respectively.
OR

(b) If one root of the equation 2x*—ax + 64 =0 is twice the other, then find the value
of ‘a’.

Wifley - IV / SECTION - IV
(wHoQuensar : 200  (Marks : 20)

@iy @ gatarm deamaiigb edra Hrew® wrip alarssalldmbs a0
cllenmencud Corps®én Bm alarisErambd dlaLwaidsab.  2x10=20
Note : Answer both the questions choosing either of the alternatives,

46. (@) BC=5 Qa.b £A=45 wogn o &8 A -dBEg BC-&E eusmmululc
BR&GaT_gen Barn 4 bs.b erem GorE@Eiouy AABC suanys.
SV

(<24) 10 Qg5 sl qpener g aul L1 euanps. aul L flar ewwidlddlmbg
13 Qg5 Wigrenaelldy P eramy ydraflews @illss siuysdrelubladmbs)
aulLgsineE PA b PB aarp QerCsrser ewmrhg s
Retmsener raridfHs.

(a) Construct a AABC such that BC=5 em, £A =45" and the median from A to BC
15 4cm

OR

{b) Draw a circle of diameter 10 cm. From a peint P, 13 cm away from its centre,
draw the two tangents PA and PB to the circle and measure their lengths.

[ #lslys / Turn over
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47.  (31) auenguLih epend Sirds 2vi+x—6=0.
2150805
(<) xy=20, x y>0 cralLSaN QUENLIL-LD CUENTS. SIS LWTUBES x=5
arafle y-ar whlleuyb y=10 erafl®, x-dr wileauwh srers:
(a} Solve graphically 22+ x—6=0.
OR
(b) Draw the graph of xy=20, x, y > 0.
Use the graph to find y, when x=5 and to find x whefig=10.



